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1 Introduction

11 Objectives

[m

1.2 References
2015SE-NPS-SRS-1.0
2015SE_B_NPS_T2_UM Ver 1.5 pdf

2 System test case specification

Ver. 1.0

Betatel 2ZEYO B H2 Zolo| MEuts|

B A|AEI(NPS : Network Printer System)g AX

flo12tE o[8¢h 7teol AA”B22 Foishs A0[C

<Table 1 Test Cases Identification & Result> %=

2.1  Test case specification identifier
2.2 Test items
2.3 Input specifications
24 Output specifications
3 Environmental needs
- Hardware & Platform, Cygwin, Vi, GCC
4  System test summary report

4.1 Test summary report identifier

<Table 1 Test Cases Identification & Result> ‘=X

4.2  Evaluation

Total test case : 387}

Passed : 327}

Failed : 67|
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<Table 1 Test Cases Identification & Result> &=
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Test Case Identifier Input Specification Output Specification Result
T2_NPS.STC.000.000 Network Input = Network Output = Pass
{userD a.txt } {"Not exist User"}
userDB =
{userA,userB,userC}
T2_NPS.STC.001.000 Network Input Network Output = Pass
={Admin Reg userA} {"Register Already!!"}
UserDB =
{userA,userB,userC}
T2_NPS.STC.001.001 Network Input Network Output = Pass
={Admin Del userA} {"Delete User userA"}
UserDB = UserDB =
{userA,userB,userC} {userB,userC}
T2_NPS.STC.001.002 Network Input Network Output = Pass
={Admin Del userA} {"Not register User in DB"}
UserDB = {userB,userC}
T2_NPS.STC.001.003 Network Input Network Output = Pass
={Admin Show UserList} | {"-UserList-,
UserDB = {userA,userB} userA,
userB”}
T2_NPS.STC.001.004 Network Input Network Output = Pass
={userA Reg userC} {"auth error”} Input  again
UserDB = olgt EEX|Gt
{userA,userB,userC} oel HXz|7t

g2 A 2=z

=

=

T2_NPS.STC.001.005

Network Input
={userA Del userB}
UserDB =

{userA,userB,userC}

Network Output

{"auth error”}

Pass

Input  again
olgf mEX|ot
olel 2|7t

2 A 2=z

=4

=

T2_NPS.STC.001.006

Network Input
={userA Show UserList}
UserDB =

{userA,userB,userC}

Network Output

={"auth error"}

Pass

Input  again
olgt EX|gt
ool *2|7t

2 A4 ez
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=
T2_NPS.STC.001.007 Network Input Network Output = Pass
={Admin De userA} {"Incorrect Command!!"} Input  again
UserDB = o|2f EX|ot
{userA,userB,userC} oe HXNz2|7t
2 A ez
=-
T2_NPS.STC.001.008 Network Input Network Output = Pass
={Admin Reg} {"Please Input Targer ID"} Input  again
UserDB = o|lg} x|t
{userA,userB,userC} olel XMz|7t
g2 A ez
=.
T2_NPS.STC.001.009 Network Input Network Output = Pass
={Admin Reg userD} {"Add Success!!"}
UserDB = UserDB =
{userA,userB,userC} {userA,userB,userC,userD}
T2_NPS.STC.001.010 Network Input Network Output = Pass
={Admin Del userB} {"B is not exisist!!"}
UserDB = {userA,userC}
T2_NPS.STC.001.011 Network Input INK = 2860 Pass
={Admin A4 10} PAPER = 100
INK = 2860
PAPER = 90
T2_NPS.STC.001.012 Network Input INK = 3000 Pass
={Admin ink 140} PAPER = 90
INK = 2860
PAPER = 90
T2_NPS.STC.001.013 Network Input Network Output Pass
={Admin A4 200} ={"Exceed Full amount of
INK = 2860 charge”}
PAPER = 90
T2_NPS.STC.001.014 Network Input Network Output Pass
={Admin ink 200} ={"Exceed Full amount of
INK = 2860 charge”}
PAPER = 90
T2_NPS.STC.001.015 Network Input Network Output Pass
={A A4 paperAmount or | ={auth error} Input  again
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A ink inkAmount}

olgf xX|gt
olel  M2|7t
2 A 2=

=]

=K

T2_NPS.STC.002.000 Network Input Network Output Pass
={userA a.txt} ={ OverFlow! Waiting
=3H= = {userB, atxt} | Number is 5}
CH71E = {Full}
a.txt =
{INK(250),PAPER(2)}
T2_NPS.STC.002.001 Network Input Network Output Pass
={userA a.txt} = { Ink is not enough...
INK = 120 Request Admin}
PAPER = 68
a.txt =
{INK(250),PAPER(2)}
T2_NPS.STC.002.002 Network Input Network Output Pass
={userA a.txt} = { Paper is not enough...
INK = 280 Request Admin.}
PAPER = 0
a.txt =
{INK(250),PAPER(2)}
T2_NPS.STC.002.003 Network Input Network Output Pass
={userA a.txt} = {Ink&Paper are not
INK =0 enough...Request Admin.}
PAPER = 0
a.txt =
{INK(250),PAPER(2)}
T2_NPS.STC.003.000 Network Input currenttime.txt = {"s x| QI Pass
={stop print} HSOIE =7
a.txt =
{INK(250),PAPER(2)}
T2_NPS.STC.003.001 Network Input for userA | currenttime.txt = {"&{xj| @I Fail
={stop print} NS AgR HE

X 2¥s

Stx| 23tet

T2_NPS.STC.003.002

Network Input

= {userA a.txt}

currenttime.txt

Pass
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T2_NPS.STC.003.003 o1 = CHZ7|Q€ = {"a.txt"'a.txt"} Pass
{"a.txt""a.txt" a.txt"} Print Now = {"a.txt” }
=383 = {"atxt"}

T2_NPS.STC.003.004 Network Input CH7 | = {"a.txt"} Pass
={userA a.txt } =83 ={)

218 = {}
45 = 0

T2_NPS.STC.003.005 Network Input CHZ1€ = {"a.txt""b.txt" } Pass
={userB b.txt } =HZ= = {userA "a.txt"}
7|9 = {"a.txt"}
== = {userA "a.txt"}

T2_NPS.STC.003.006 Network Input CH7| € = {"b.txt"} Pass

={userB b.txt }
o1g = {}
== = {userB "b.txt"}

£33 = {userB "b.txt"}

-15t0] e
OCH  enterCH
A oIMTt &

o AIZE

T2_NPS.STC.003.007

Network Inputl
={userB a.txt }

Network Input2

CH7|E = { userB a.txt,
userA a.txt}

==HZ = {userA "a.txt"}

Fail
(Z230|
ZME R K

={userA a.txt } = 427t
oiz1g = {} =)
== = {userA "a.txt"}
T2_NPS.STC.003.008 Network Input currenttime.txtO| enter2 1 | Fail
= {userA a.txt} Mok &2 2oy A=X] (20|

i

2 5
- C
o
]

T2_NPS.STC.003.009 Network Input Network Output = Fail
={userB b.txt } {can't print} (Z2=H0|
CH712 = {"a"a""a"b"} dHE=z  H
=HZ = {userA "a.txt"} = 827t ¥
INK =0 2)
PAPER =0

T2_NPS.STC.003.010 Network Input Network Output = Fail
={userB b.txt } {can't print} (=220

EH7 OE:' - {lla.lllllall}
E=HZE = {userA "a.txt"}
INK =0

dHE=Z &

— o
-
o
O
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PAPER = 0

T2_NPS.STC.003.011

Network Input

={userB b.txt }

L7128 =
{"a",a""a"b""a"}

£H3FT = {userA "a.txt"}
INK =0

PAPER = 0

Network Output =
{can't print}

Pass

T2_NPS.STC.003.012

Network Input

={userB b.txt }

071 = (ratva)
E3F = {userA "a.txt"}
INK = 2200

PAPER = 0

Network Output =
{can't print}

Pass

T2_NPS.STC.003.013

Network Input
={userB b.txt }
tH71g = {}
INK = 2200
PAPER =0

Network Output =
{can't print}

Pass

T2_NPS.STC.003.014

Network Input
={userB b.txt }
7|1 = ()
INK =0
PAPER = 60

Network Output =
{can't print}

Pass

T2_NPS.STC.003.015

Network Input
={userB aa.txt}
INK = 3000
PAPER = 100

Network Output =

{File not exist!}

Pass

T2_NPS.STC.004.000

Network Input or NOT
input

Always Displaying
Screen_Interface.txt =
{now_paper,
now_ink,username,
printpaper, needpaper,
printing, stop, nextuser,

nextcontentpaper }

Fail
('xterm’ :
unkown
terminal type)
Paper, ink 7t
ZalE e
O| Zrat LCD

of 28&=
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